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After each cut, Chen counts the ballots and records the results in a table.
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: Number of Cuts | Number of Baiiots | Chen wants to predict the number of bafists

after any number of cuts
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4 Complete the 2™ column in the table to show the number of baliots after each of the cuts .
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S Use vour ryfe
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to determine how many ballots Chen would h f
nany t ave it he made 20 cuts?
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10. Use your rul
SO‘ tule (equahon) lo determine how many ballots Chen would have if he made 30 cuts?
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-1,073714 1,82

11 How many cuts would it take to make enough ballots for ail 500 students in Chen's school? _ic.y}s

Explain how you determined this answer LOOL "/\ +L' "‘-L{'.— Rf

\‘:lus{’ more Hoao 500 bollobs

12 Graph the relationship using an interval of 1 on the x-axis and 50 on the y-axis
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